Answer key

1. m=-3 b=4 Y='3X+4
2. (6,:3)(-2,2)
m= :(___?3.)_=i=1
-2—-(-6) 4
slope=1
3.
('3:4}(31"4)
—-4-4 _—8 -4

™33 6 3

slope =-4/3

4. x-int: (6,0) y-int: {0,-3)

slope=% y-int:-3

5.  x-int:*(-4,0) y-int: {0,-2)

slope =-% y-int: -2
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—2-0 _-2_ 1
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y=mx+b
-3=1(-6)+b
-3=-6+b
3=b

y-int: 3

y=mx+b
4=(-4/3)(-3)+b
4=4+b

0=b

y-int: 0

Equation: y=%x-3

Equation: y=-}2x—-2

HW #

Equation: y=x+3

. 4
Equation: y = —Ex



2x—-4y =16
y=lx—-4

slope =-2

y=mx+b
2=1(3)+b
-2=3+b

5=b

y=mx+b
-6=-2(1}+b
-6=-2+hb

4=hb

Equation: y=x-+5

Equation: y=-2x—4



